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756 =700+50+6
= x100+ x10+
100+3=33---1 is left over after each 100 is divided by 3.
There are 7 100s in 700, so all together is left over.
10:3=3---1 is left over after each 10 is divided by 3.
There are 5 10s in 50, so all together is left over.
The remainder of dividing 756 by 3 is + + =
Is 756 a multiple of 3?
10003 =
10000+3 =
What do you find?

When we want to check whether 756 is a multiple of 3, we only need to check whether the sum of its

digits is a multiple of 3.

Which numbers are multiple of 3? Circle them!

257 341 582 7545 2547
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756=T700+50+6

= x100+__ x10+
100:9=11---1 is left over after each 100 is divided by 9.
There are 7 100s in 700, so all together is left over.
10:9=1---1 is left over after each 10 is divided by 9.
There are 5 10s in 50, so all together is left over.
The remainder of dividing 756 by 9 is + + =
Is 756 a multiple of 9?
1000+:9=
10000+-9=
What do you find?

If we want to check whether 756 is a multiple of 9, we only need to check whether the sum of its
digits is a multiple of 9.

Which numbers are multiple of 9? Circle them!

756 254 612 5424 2579
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756=700+50+6
= x100+ x10+
100+11=9---1 When we divide 100 by 11, we get a left over of
There are 7 100s in 700, so all together we have a left over of
10+11=0---10 10 is not enough to be divided by 11 and 10 is less than 11.

There are 5 10s in 50, so all together we have less than 11.
When 756 is divided by 11, there are + = more than 11
, but there are less than 11.

more

Is 756 a multiple of 11?

1000+11= the remainder 1 more or 1 less than 11?
1000011 = the remainder 1 more or 1 less than 11?
What do you find?

If we want to check whether 756 is a multiple of 11, we only need to check whether the difference
between the sum of the digits at odd places and the sum of the digits at even places of the number is

a multiple of 11.

Which numbers are multiple of 11? Circle them!

275 364 803 2548 5291
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6 4% 3 JEix Six is divisible by three.
13+4=3---1 Thirteen divided by four equals three with a remainder of one.
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b - HFAPALT = AR W2 o We have learned how to find multiples of
2,5, and 4. We can check whether the number is a multiple of 2 or 5 by checking the last
digit of the number, and we can check whether the number is a multiple of 4 by checking the
last two digits of the number.3: 7 k2 P& FZFH H o & fleend|B)j2 o

Now, let’s see how to find a multiple of 3. The first way is directly dividing the number
by 3. If the number is divisible by 3, and the number is the multiple of 3. For example, 123
divided by 3 equals 41 remainder 0, so 123 is a multiple of 3.

Next, we want to find whether there is an easier way to find the multiple of 3.#% if* fr=
o o— fRFEFP 756 i BHEF 47 H o 756 can be separated into "seven hundred", "fifty" and
"six", so there are 7 hundreds, 5 tens, and 6 ones. Next, 100 divided by 3 equals 33 remainder
1, so 1 is left after each 100 is divided by 3. There are 7 hundreds in 700, so 7 are left here. In
the same way, 10 divided by 3 equals 3 remainder 1, so 1 is left after each 10 is divided by 3.

There are 5 tens in 50, so 5 are left here.

Because 7 are left in 700, 5 are left in 50, and the remainder of dividing 756 by 3 is 7
plus 5 plus 6. It is equal to 18. Is 756 a multiple of 3? Yes, 756 is a multiple of 3 because 18
is divisible by 3.7% iF* £ L%~ T 4#E - 1000 divided by 3 equals 333 remainder 1. 10000
divided by 3 equals 3333 remainder 1. We find the remainder of 10, 100, 1000, and 10000
divided by 3 are all equal to 1.

Then, we have the following conclusion: when we want to check whether 756 is a
multiple of 3, we only need to check whether the sum of its digits is a multiple of 3.#7 14 #¢
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